1.)  Benzene has              unhybridized p orbitals and                   molecular orbitals.
2.)  Benzene has                 bonding molecular orbitals and                         antibonding molecular orbitals.

3.) Orbitals that are equal in energy are called                                                      .

4.) Benzene has              pairs of degenerate orbitals.
5.) Benzene has                pi electrons.

6.) Draw benzene and its resonance structure.

7.) True/False:  The three double bonds in benzene rapidly interconvert between the two resonance structures.  Explain.

8.) According to Huckel’s Rule, what criteria must be met in order to be considered aromatic?

9.) Explain the significance of the 4, n, and 2 in 4n+2.

10.) Explain the difference between non-aromatic and anti-aromatic.

11.) Describe how you can draw the molecular orbital diagram for a polygon.
12.)  Which of the following are aromatic? (choose all that apply)   
       a.)  
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13.) Which of the following are anti-aromatic? (choose all that apply)
 a.)  
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14.) Label the following as aromatic, anti-aromatic, or non-aromatic.
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15.)  Draw the molecular orbital diagram for benzene.  Place all pi electrons in your diagram.  Label each orbital as bonding or anti-bonding.  Circle pairs of degenerate orbitals.
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